EARAROBREBRT —5 XN—ZXBISH—F 202246833H (&) 6LEHH3H

mc 2— YSR4®E B
[AXE%) 1 &:600,000 ~ 23#&:240,000 9  337%&:150,000 M  43#&:90,000H . 5 3&:60,000
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
TRV, 4 4 | PEEBETL 1:31.4 1-1-1-1 [39.2| - 7 510 | EHEX (FEk)
1101 | T-ILWVYYTR 5.0 ) “2) (IﬁJ;_J P NEEF
RINVIT—I—) B:FTU—N\VT— NV T
ST s o4 | PP 1:31.7 3322 [39.4| - 1| 475 | EBY (@)
218110/ RY—FTTAI7 55.0 (1 3/4) () |TEEE
Ri—5—yvF B:O0-HYBIT74A47 /=Y Tr—I
S s - R : -5-4- - A3l (B
1 - A LR =) e AR ’ ?665) #J:%‘é( )
RINNMVFSY BNOYYF—T3 YUNIIVF YT 7—1
S 5 | TEE 1:32.2 8-8-66 |39.4| - 2 | 58 |FERE EH)
4l 2| NFTAIONA H ] s @ ) | @ E=7OVTok
R:N40 Ry RILb—Ya IYVYIT7—L
=~ s 4 | KLUBEKED 1:32.2 3-4-4-3 |39.8| - 6 | 451 | A (k)
5i707 FUIHISY %53.0 ") ) | @) A-2=
RiF4RAIU—brFrv s B:FUIV2—-Y [FilsaEae]
< = 9 IRER 132 -2-2- 30 - RIBIEE (Em)
6178 Ny rId—JLR s 56.0 (11312/2% S ? (4_728) IJBEER
R:Z29—UvIO0—R §:VIL/ IV = TIT-oEE
TR o4 | BEHT 1:33.1 7-7-7-7 | 40.2| - 5 445 | EIEBFI— (Fl)
7l8l9|SvF—T7UR 56.0 31/ @) |BEBOE
RFA—TAYNT N B:ZUT2 BT —L
- HAE : -9-9- = Ech#aig (EH)
8 4| ARETFA =Y %6 | EHE 1.(333).6 9-9-9-9 |39.7 8 (4_81(; EEEEEEBE
R:A7U—ve—0O— B:F-—Nv7 vy RI7—L4
= JI|RIE— :33. -6-8- 9| - BAKE (EH)
9 3| 7SI/ FE # o5 | B 1(33/34)5 6-6-8-8 | 40.9 10 zg? gxﬁg
RFVYPY I/ FEF BFSIVFVIN =R
S 2 pee = - - - BAES (@
5|5 | XA 3TN *e 8% s LT Reee
RAAVIAVR—F— B:XAVIVERYS iy —=
@ 11— —BERIEI
13—7F— 1.8,(7,10),6,3,9,2,4
20—+ — 1,8,10,7,6,3,9,2,4
30—F+— 1,(8,10),(6,7),2,9,3,4
40— — 1,10,7,8,6,2,9,3,4
o ILRE
BB 1 3,150 | [ 91 K 1-10 7604 & 1-8 3,310 3ER 1-6-10 3,200
B B 1 610M 1-6 1,640M o 18 1-10 2,940 3Es 1-10-6 31,590M
10 1409 6-10 220 oS- 1 1-10 9,680
6 1409

ABIC OV TRUTEREERRODDZE. THRIIZEL.



